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Lowtraffic (wenig Verkehr)
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Middletraffic (mittlerer Verkehr)
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Hightraffic (viel Verkehr)
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Burst (ruckartiger Verkehr)
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ICQO Instant Messenger
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Lowtraffic

(wenig Verkehr)
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Middletraffic (mittlerer Verkehr)
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Hightraffic (viel Verkehr)
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Burst (ruckartiger Verkehr)

Throughput RTT
60 T T T 2 T T T
server send —%—
client receive —+—
50 1
15 1
_ 40 1
<
5
X, =
E‘ 30 4 E 1t |
] | o
e
£ \
20 ‘ T ‘ 1
<‘£ H 05 q
10 “ ‘ —
el *MY&%@& nllef sl :
0 mm o 8L o k2
1 traffic start at 30 traffic end at 90 120 1 traffic start at 30 60 traffic end at 90 120
Time [sec] Time [sec]

Diagr. 1.B.1 Diagr. 1.B.2

Packets per second Average packet lenght per second
100 T T T T T T
1400 | 4
80 1 1200 | 1
)
= 1000 | q
P @,
] 60 1z
§ 2
3
ey = 800 1
5 @
e < ﬁ
2 g \
S wt e eo0f | 1
2 g s
s | /V”‘ ( I
R \H/ [ | |
L p ]
| I
o I RN T A N
L Il ”H ”
200 U Lol Ll ,Hw m AL ue‘u“\;‘mw\e‘\,\f f
,\‘ m N\uu A I / \[l y\ I I
AL B \u MR | / U ATTAET
0 0 L
1 traffic start at 30 traffic end at 90 120 1 traffic start at 30 60 traffic end at 90 120
Time [sec] Time [sec]

Diagr. 1.B.3 Diagr. 1.B.4

mgen Traffic

mgen send —<—
140 | 4
mgen receive —+—

100 H 1

©
<
=
o
X gt H E
=3
a
=
=)
3 If
< 60 H‘ 1
= (¥
[ I
40 H g
20 ‘ 4
. |
1 traffic start at 30 60 traffic end at 90 120
Time [sec]

Diagr. 1.B.5



Anhang zur Bakkalaureatsarbeit, Roland Wallnofer

Seite 11

iVisit
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Lowtraffic (wenig Verkehr)
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Middletraffic (mittlerer Verkehr)
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Hightraffic (viel Verkehr)
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Burst (ruckartiger Verkehr)
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NetMeeting
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Lowtraffic (wenig Verkehr)
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Middletraffic (mittlerer Verkehr)
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Hightraffic (viel Verkehr)

Throughput RTT
60 T T T 2 T T T
server send —%—
client receive —+—
50 1 4
15 4
o
- 40 + B o © o o %0 0,0
3 o o
2
=
o
< = °
‘g_ 30 1E 1 1
S [:4
E}
e
=
£
20 ﬁ 1 °
| 0 |
‘\ | 0 o
10 {jww &% 1 N ©
\‘\‘ +‘1‘ﬁ b & o @ @o o
[ %]
| \/ f @ ‘ (f
Vsl A ot o :
N B ﬁ%fw Al TN V o bt ‘ ‘
1 traffic start at 30 traffic end at 90 120 traffic start at 30 60 traffic end at 90
Time [sec] Time [sec]
Diagr. NM.H.1 Diagr. NM.H.2
Packets per second Average packet lenght per second
100 T T T T T T
1400 | 4
80 1 1200 | 1
)
= 1000 | q
o,
g g
9] 60 4 £
3 g
= 2 800 |- ]
5 £
£ g ﬁ
E 40 - 1 % 600 [ ‘i“ “\ 1
i p
S I
400 L\J‘ 'H P\ \‘\ ﬁ 1
20 “\“\\“\ I M I [
200 M‘ \H\“ I | \‘\ /‘ M ol “‘ ‘h‘
r I H
I ‘A HHH \u huu m\ AH
| ‘H r\H HH A“ i u \ [/ N/
A \ LA B A Lo
0 0 i |
1 traffic start at 30 traffic end at 90 120 1 traffic start at 30 60 traffic end at 90 120
Time [sec] Time [sec]
Diagr. NM.H.3 Diagr. NM.H.4
mgen Traffic
T T T
140 mgen send ——
mgen receive —+—
120 - B
100 | ! 1
I [ L ET
2
=
g |
< 80 f 1
2 kP oh o e b
£ e i +
: f I
3
2 60 | | B
=
= “ ‘
40 \ ‘ 1
20 + ‘* 1
0 L !
1 traffic start at 30 60 traffic end at 90 120
Time [sec]

Diagr. NM.H.5

120




Anhang zur Bakkalaureatsarbeit, Roland Wallnofer Seite 20

Burst (ruckartiger Verkehr)
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